




Parts List for VR2522 Type 0

Item Number Part Number Description Qty Required

1 000000-00 No Longer Available 1

2 D23124 LABEL,WARNING 1

3 D23125 DECAL HOT SURFACE 1

4 A13599 ENGINE BASE 1

5 A18975 WHEEL BRACKET 2

6 D28397 SCREW 1/4- 20 X 3/4 7

7 D30480 SHROUD 1

8 D27956 BOLT .375-16 X 1.25 3

9 A13598 FRAME 1

11 A07908 PUMP 1

11 A07908 PUMP 1

11 A07908 PUMP 1

11 A07908 PUMP 1

12 A06113 SCREW 4

13 D30484 SHROUD LOWER VERTICA 1

14 A01519 SCREW .250-10 X .75 2

15 A14770 PANEL HOSE CONNECT 1

16 D22268 ISOLATOR RECESSED RU 1

18 D30486 AXLE .500 DIA X 18.6 1

19 A00743 TIRE 8 X 1.75 SEMI P 2

20 W137 NUT .50 PAL 2

21 A03854 SCREW 2

22 16797 WRENCH ALLEN 2MM 1

23 NCT001 TOOL NOZZLE CLEANING 1

24 A06121 LANCE 1

25 D30492 BUTTON SNAP .302 DIA 2

26 A14773 HIGH PRESSURE HOSE 1

Page 1



Parts List for VR2522 Type 0

Item Number Part Number Description Qty Required

27 H140 HOSE ASSY CHEMICAL 1

28 A02963 SCREW 10-14 X .750 P 2

29 A02962 FASTENER PUSH .250 D 3

30 A15189 TRIGGER GUN 1

31 A13603 HANDLE ASSEMBLY 1

32 A13604 ASSY ACC PANEL 1

35 A15068 WARNING DECAL 1

36 A15072 WARNING DECAL 1

50 A16877 WARNING DECAL 1

51 285807-50 FUEL CAP 1

101 D25054 SHAFT ENGINE COUPLE 1

102 D25006 SCREW SET 5/16-24 .4 1

105 D21254 ASSY JOURNAL BODY RA 1

106 D25565 SCREW 5/16-18 1.5 TH 1

107 D23487 ASSY RADIAL PISTON & 1

108 A00755 CLAMP BLOCK END 1

109 D25566 SCREW 5/16-18 GR8 PH 1

111 D20995 STRAP 2 CYLINDER 2

111 D20995 STRAP 2 CYLINDER 2

111 D20995 STRAP 2 CYLINDER 2

111 D20995 STRAP 2 CYLINDER 2

111 D20995 STRAP 2 CYLINDER 2

112 A00756 CLAMP BLOCK MID STRA 1

118 D22684 BOLT .438-14X4.00 HH 1

119 D25567 SCREW 5/16-18 2.125 1

120 A04774 KIT HOSE PULSE 12 IN 1

121 F217 ELBOW 3/8 1

Page 2



Parts List for VR2522 Type 0

Item Number Part Number Description Qty Required

122 16364 PLUG 3/8 NPT 1

123 A02542 RETAINER HOSE 1

130 A08869 UNLOADER KIT 1

134 V161 INJECTOR 1.8MM FIXED 1

135 H061 NUT SWIVEL GARDENHOS 1

136 H068 SWIVEL 3/8 MALE 1

137 F187 SCREEN GARDEN HOSE 3 1

806 16990 OIL 32OZ 10W-30 HD 1

856 17727 ADAPTER 22MM MALE X 1

Page 3




